4 T.Y.B.A. h

ECONOMICS

Advanced Economic Theory
(Paper - IV)

_ {17* Oct 2016} ) QP Code : 69735

(3 Hours) [ Total Marks : 100

N.B. : (1} Attempt any five questions selecting not more than three from each section
(2) All questions carry equal marks.
(3) Draw neat diagrams wherever necessary.

Section -1

1. Attempt any two from the following:

(a) Explain Cournot's model of oligopoly. 10
(b) Discuss the low cost price leadership model. - 16
(c) Discuss the dominant strategy in the context of game theory. 10

2. Attempt any two from the following:
(a) Explain the price determination when there prevails monopoly in the 10
product market and perfect competition in factor market.
(b) Discuss the Loanable fund theory of interest. 10
(¢) Explain the wage determination under collective bargaining. ‘ 10

3. Attempt any two from the following:

(a) Explain Pareto efficiency in production. 10
(b) Discuss Kenneth Arrow's impossibility theorem of social welfare. 10 -
(c) Discuss the Kaldor-Hicks Compensation criterion of social welfare 10

4. Attempt any two from the following;:
(a) "Market signaling is an effective solution for resolving the problem of 10 :
adverse selection arising from asymmetric information "- Justify. )
(b) Moral hazard, a case of asymmetric information, can lead to market 10
failure"- Discuss.

(c) Discuss the Efficiency Wage Theory. 10
Section -1I
5. Attempt any two from the following:
(a) Derive LM curve and explain its features. 10
(b) Why does aggregate demand slope downward? 10
(c) Explain the Philip's curve in the long- run. | - 10
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6. Attempt any two from the following:
| (a) Explain fixed exchange rate system. 10
(b) Explain the relative efficiency of fiscal policy under flexible exchange 10
rate and perfect capital mobility.
(c) Explain currency crisis. 10

- 7. Attempt any two from the following:

(a) Explain the Comparative Cost Theory of international trade. 10
(b) Describe the components of balance of payments. 10
(c) Explain equilibraum terms of trade with the help of offer curves 10

8. Attempt any two from the following:

(a) Explain the benefit principle of taxation. 10
(b) Discuss the Coase theorem. 10
(¢) Describe the impact of elasticities of demand on incidence of 10
taxation.
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T.Y.B.A.
ECONOMICS
Growth and Development
(Paper -V)

{18" Oct 2016} ) QP Code : 69819

(3 Hours) [ Total Marks : 100

N.B.: (1) Attempt any five questions, choosing not more than three
questions from any one section. '
(2) Answers to the two sections should be written in the same
answer-book.
(3) Figures to the right indicate full marks.

‘ SECTION-I
1. Attempt any two of the following — _ 20
(a) Define economic development. Explain the core values of
economic development.
(b) Write an explanatory note on Human Development Index.
(¢) Explain the role of market in the development process.

2. Attempt any two of the following — 20
(a) Discuss Rostow’s stages of growth.
(b) Explain Harrod-Domar growth model.
(¢) Critically examine Lewis model of growth.

3. Attempt any two of the following :— - 20
(a) Write an explanatory note on the concept of co-ordination failure.
(b) Discuss the theory of big push.
(c) Explain Leibenstein’s theory of critical minimum efforts.

..p‘.

Attemipt any twe of the following :— 20
 (a) Explain the concepts of Poverty Gap Ratio and Head Count Index.
(b). Explain the various methods of measureing income inequality.
(c) Explain the impact of inequality on economic development.

SECTION-IT
5. Attempt any two of the following :— 20

(a) Write a note on microeconomic household theory of fertility.
" (b) Discuss the various causes of high fertility rate.
(c) Explain the role of health in economic development.

[ TURN OVER
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6. Attempt any two of the following :- ' 20
(a) Explagin the various causes of urbanisation.
(b) Explain Harris-Todaro model of rural-urban migration.
(¢) Explain the role of urban informal sector.

7. Attempt any two of the following :— 20
(a) Explain the role of agriculture in economic development.
(b) Discuss various policies for rural development.
(c) Write a note on agriculture and the WTO.

‘8. Attempt any two of the following :— ' 20
(a) Examine the arguments for an inward-looking trade strategy.
(b) Explain the demerits of multinational corporations.

(¢) Evalute the structural adjustment and stabilisation programme of
the World Bank.
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ECONOMICS
Indian Financial System

T.Y.B.A.

{19 Oct 2016}

(Paper - VI)

J

QP Code : 69912

For Regular Students ] (2'2 Hours) [ Max Marks : 80
For IDOL Students ] (3 Hours) [ Max Marks : 100

'y

N.B.: (1) Regular Students should attempt any four questions.

(2) IDOL Students should attempt any five questions.
(3) Figures to the right indicate full marks.

Attempt any two of the following :-
(a) Discuss various components of a financial system.
(b) Describe important functions of a financial system.
(c) What are the indicators of the development of a financial system?

Attempt any two of the following :-
(a) Recommendations of the Narasimham Committee of 1998.
(b) Functions of the RBI.

(c) Transmission channels of monetary policy.

Attempt any two of the following :-
(@) Equities
(b) Bonds

(c) Debentures.

Attempt any two of the following :-

(a) Reforms in the Indian money market
(b) Components of Indian Capital market
(c) Functions of foreign exchange market.

Attempt any two of the following :-
(a) Significance and functions of a derivative market.
(b) Forwards and futures

() Pricing of options.

Attempt any two of the following :-

(@) Development of Insurance sector in India.
(b) Securities and Exchange Board of India.
(c) Mutual funds in India.

Write short notes on any two of the following :—
(@) Financial system and economic development
(b) Non-performing assets of commercial banks
(c) Components of Indian money market
(d) Credit rating agencies in India.
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4 T.Y.B.A. )
ECONOMICS
Advanced Economic Theory
(Paper - IV)

{ 25" Oct 2016}

QP Code : 69736

\. J

(3 Hours) ' [ Total Marks : 100

N.B. : (1) Attempt any five questions selecting not more than three from each section
(2) All questions carry equal marks.
(3) Draw neat diagrams wherever necessary.

Section -1

1. Attempt any two from the following:

(a) Explain the Cournot's model of oligopoly, / A 10
(b) Explain the price-output determination under cartel. 10
(¢) Explain Prisoner's dilemma in the context of game theory. ' 10

2. Attempt any two from the following:
(a) Explain the price determination when there prevails perfect competition 10
in the product market and factor market.

(b) Discuss the theory of economic rent. ‘ 10
(c) Explain the Risk and uncertainty theory of profits. 10
3. Attempt any two from the following:
(a) Explain how Pareto optimality conditions are fulfilled under perfect 10
competition. , ‘
(b) Discuss Kenneth Arrow's impossibility theorem of social welfare. 10
(¢) Explain Kaldor-Hicks Compensation Criterion of social welfare. 10

4. Attempt any two from the following:

(a) What is search cost? Explain the process of search cost for lowest 10
price. ‘
(b) Explain the concept moral hazards in the Insurance market. 10
(c) Discuss the Efficiency Wage Theory. 10
Section -II
5. Attempt any two from the following:
(a) Derive IS curve and explain its features. 10
(b) Explain short-run aggregate supply curve. 10
(¢) Discuss the trade-off between unemployment and inflation with the 10

help of Philip's curve.
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6. Attempt any two from the following: -
(a) Explain the determination of Foreign exchange rate under free markets. 10
(b) Explain the relative efficiency of monetary policy under flexible exchange 10
rate and perfect capital mobility.
(c) Explain currency crisis. 10

7. Attempt any two from the following:

(a) Explain the modern theory of international trade. 10

(b) Describe the measures to correct disequilibrium in the balance of 10
payments.

(¢) Explain protective trade policy. 10

8. Attempt any two from the following:

(a) Explain the ability to pay principle of taxation. - 10
(b) Discuss the Coase Theorm. 10
(c) Describe the impact of elasticities of supply on incidence of 10
taxation.
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T.Y.B.A.
ECONOMICS
Growth and Development
(Paper-V) _
{ 26" Oct 2016} y QP Code : 69818
(3 Hours) [ Total Marks : 100

N.B.: (1) Attempt any five questions, choosing not more than three
questions from any one section.
(2) Answers to the two sections should be written in the same
answer-book.
(3) Figures to the right indicate full marks.

‘ SECTION-I
1. Attempt any two of the following :— 20
(a) What is economic development? Distinguish between economic
growth and economic development.
(b) Explain Sen’s capabilities approach.
(c) Explain the role of state in economic development.

2. Attempt any two of the following :— 20
(a) Explain Rostwo’s stages of growth.
(b) Explain Lewis’s model of unlimited supplies of labour.
(c) Explain Solow’s model of economic growth.

3. Attempt any two of the following :— 20
(a) Wrtie an explanatory note on multiple equilibria.
(b) Explain the theory of big push.
(¢) Discuss the theory of critical minimum effort.

4. Attempt any two of the following — 20
(a) Explain the different approaches to poverty measurement.
(b) Outline the various policy measures to alleviate Poverty.
(c) Explain Kuznet’s inverted “U” hypothesis.

‘ SECTION-II
5. Attempt any two of the following :— 20
| (a) Explain the theory of demographic transition.
(b) Explain the consequences of high fertility rate in developmg
countries.
(c) Explain the contribution of education in economic development.

[ TURN OVER
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6. Attempt any two of the following :— 20
(a) What are the various effects of Urbanisation?
(b) Explain Harris - Tadaro model of rural-urban migration.
(c) Write an explanatory note on microfinance revoution.

7. Attempt any two of the following :— 20
(a) Explain the role of agriculture in economic development.
(b) What are the various sources of rural credit supply?
(¢) Explain various provisions for agriculture under WTO.

8. Attempt any two of the following :— 20
(a) Examine the arguments for an outward-looking trade strategy.
(b) Explain the merits of multinational corporations.
(¢c) Evaluate the structural adjustment and stabilisation programme of
the World Bank.
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T.Y.B.A.
ECONOMICS
Indian Financial System

(Paper - VI)
{27" Oct 2016}

/

(2% /3 Hours)

N.B.: (1) IDOL stpdents should attempt any five questions.
(2) Regular students should attempt any four questions.
(3) Figures to the right indicate full marks.

1. Attempt any two of the following :-
(a) Discuss the structure of Indian financial system. '
(b) ‘What are the functions of a financial system ? -

QP Code : 69911

[ Total Marks': 80/100

(c) Explain the role of financial system in economic development.

. 2. Attempt any two of the following :-
" (a) Functions of the Reserve Bank of India.
(b) Narasimham Committee Report of 1998.
(¢) NBFCs in India.

3. Attempt any two of the following :-
(a). Shares and equities.
(b) Bonds and debentures.
(¢) New-financial instrumetns.

4. Attempt any two of the following :-
(2) Reforms in Indian money market.
(b) Structure of Indian capital market.
(c) Functions and constituents of foreign exchange market.

5. Attempt any two of the following :-
(a) Meaning and importance of derivatives market.
(b) Features and types of derivatives.
(c) Pricing of futures.

6. Attempt any two of the following :-
- (a) Growth of mutual funds in India.
(b) Growth of insurance business in India.
(c) Working of credit rating agencies in India.

7. Write short notes on any two of the following -
(a) Indicators ef financial development.
(b) Features of Indian money market.
(c) Reforms in primary capital market.
(d) Securities and Exchange Board of India.
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T.Y.B.A.
ECONOMICS

Research Methodology
(Paper - VIl)

\. J
QP Code : 69999
(3 Hourg) [ Total Marks : 100
N.B.: (1) éﬁempt any Five questions, selecting not more than three questions from

each section.

2) Answers to both the sections should be written in the same answer book.

3 Flgures to the right indicate full marks.

(4) Use of simple calculator is allowed. -

(5) Graph papers will be supplied on request.

(6) Attach the graph paper inside the answer book.

Section -1

. 1. Attempt any two of the following :-

(a) What is research? State the characteristics of scientific research.

10
(b) Discuss the process of research work. 10
(c) Explain the role of computer technology in research. 10
2. Attempt any two of the following :-
(2) Explain the following : 10
(1) Qualitative and Quantitative data
(ii) Sources of secoridary data.
(b) Explain non-probability sampling methods. 10
(c) Explain the criteria of a good sample. 10
3. Attemp'fany two of the following :- ,
(a) Write a note on' Interview Method'. 10
(b) Explainthe' Questionnaire Method' of primary data collection. 10
(c) Giveabriefreport on any case study that you have undertaken. 10
4, Aﬁcmpt any two of the following :-
(a) (i) Write anote on ' Classification'. 4
(ii)-Draw I—hsto gram and Frequency Polygon for the followmg : 6
CI 0-100 100—200 200-300. 300-400 400-500 | 500-600
F 12 18 27 20 17 6
(b) Calculate arithmetic mean and mode for the following data. 10
c 0-10 10-20 ;20~30 . 30-40 40-50 50-60 60-70
F. 5 12 15 25 8 3 2
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(c) Calculate quartile deviation (Q.D) for the following data. 10
CI | 4-8 | 8-12 | 12-16/16-20]20-24]24-28]28-32 32-36]36-40 | |
F 6 | 10 | 18 {30 | 15 [ 12 | 10 | 6 2

Section -I1

5. Attempt any two of the following :- S
(a) Calculate Spearman's Rank Correlation coefficient for the following. 10

Marks in Marathi 30 | 42 33 44 35 46
Marks in Hindi 44 | 32 39 35 | 40 47

(b)- Calculaﬁc regression equation of Y on X for the following. 10
n=7 . Tx=70 Ty =49 Txy=448
vx2=903 Yy*=280

(c) Fitatrend using three yearly moving average method. 10

Year 2006 12007 12008 (2009|2010{2011 |2012{2013
Sales _
(ooo Rs)l 36 39 42 | 43 46 | 52 38 | 49

" 6. Attempt any two of the following :-
' (a) (i) State the problems involved in the construction of index numbers.

5
(ii) Calculate real income for the following. 5
Year 2010 | 2011|2012 {2013 | 2014
Income (Rs) 4000 (4200 (4500|4900 | 5500
Tndex Number | 110 | 120 | 125 | 130 140
(b) Calculate Fisher's Indcx number for the following : 10
2005 2013
Commodity |Price(Rs) | Quantity Price (Rs) Quantity.
A 30 13 T 40 15
B 40 15 70 20 .
C 10 12 60 22
D 50 10: 90 18
E 20 14 100 16
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(c) Calculate cost of living index number for the following : 10

Group Index Number Wei ght

Food 300 6

Clothing , 200 12

Fuel & lighting 150 8

House-rent 100 4

Miscellaneous 220 10

7. Attempt any two of the following :-

(a) State the significance of a hypothesis in research work.

(b). Review the criteria of a good hypothesis.
(c) What the different types of hypotheses?

8. Attempt any two of the followmg

(a) What is the significance of writing a research report?
(b) FElaborate on various types of research reports.

(c) Explain the structure of a research report.

KQ-Con.1731-16.
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International Economics

T.Y.B.A.
ECONOMICS

(Paper - VINl)

QP Code : 70137

(3 Hours) o [ Total Marks : 100.

'N.B, : (1) Attempt any five questions, selecting not more than three from one section.

- (2) Figures to the right indicate full marks.
(3) Answers in both the sections should be written in the same answer books.

- SECTION I

1. Answer any two of the following :-
‘ (a) Discuss the Ricardian theory of comparative cost.
-(b) .-Explain the misconceptions about the comparative advantage.
(¢) Write note on Leontfeffs paradox.

i

[SS]

Discuss any two of the following :-
(a) .Factors affecting international capital rnob1l1ty
(b) 'Wage conversions.-
(c) Role of foreign capital.

3. Explain any two of the following :-
(a) Arguments for and against protection.
(b) Import substituting industrilisation as a growth strategy.
(c) TRIPS and GATS. |

4. Attempt any two of the following :-
(a) Explain the theory of optimum tariff.
(b) Explain the trade creation and diversion.
(¢) Write note on "Export Subsidy.

SECTION II

5. Attempt any two of the following :-
() Explain the structure and components of balance of payments.
(b) Describe the various causes of disequilibrium in the balance of payment.
(c) Write note on "Effectiveness of Devaluation.”

6. Explain any two of the followmg -
(2) Functions of forelgn exchange market.
(b) Balance of payment theory of exchange rate.
- (¢) Exchange rate risks.

KQ-Con. 2985-16.
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7. Discuss any two of the following :-
' (a) Flexible exchange rate system.
(b) International liquidity and IMF.
© (¢) Effects of currency crisis.

20

- 8. Aftempt any two of the following :-

(a) . What are the-types and benefits of an economic integration.
(b) Explain the working of the European Union.

(c) Write a note on "SAARC".

20
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T.Y.B.A.

ECONOMICS
Export Management
(Paper - IX)
J
QP Code : 170268
For Regular Students (2% Hours) [ Total Marks : 80
For IDOL Students (3 Hours) [ Total Marks : 100

N.B.: (1) Attempt any four questions.
(2) Figures to the right indicate full marks. ‘
(3) The student of IDOL should attempt any five questions.

1. Attempt any two of the following —

(a) Explain the meaning and functions of a export management. 10
(b) Analyse the qualities requires to be successful export manager. 10
(c¢) Explain the types of tariff and non-tariff barriers. 10

- 2. Attempt any two of the following :-

(2) Explain the objectives an achievements of WTO. 10
(b) Examine the significance of ASEAN in promoting foreign trade. 10

(c) Write a note on UNCTAD. 10

Attempt any two of the following :—
(a) Discuss the role of trade delegation and exhibition in foreign trade. 10
(b) What is mean by Tapping of foreign market? Examine the role of 10
foreign office in export marketing.
(¢) Examine the contribution of festivals and trade fair in promoting 10
export.

(V8]

4. Attempt any two of the following :—

(a) Explain the meaning and objectives of export pricing. - ‘ 10
(b) Explain the various cost factor’s included in export pricing. 10
(¢) From the following data calculate minimum FOB price in Dollar. 10

e Ex-factory cost Rs. 34000/-

* Packing cost Rs. 6000/-

~» Transport cost Rs. 3000/-

e Loading cost Rs. 1000/-

e Profit margine 10% of FOB cost

e Duty draw back 10% of FOB price

e Conversion Rate in Dollar : 1 Dollar = 44 Rs.

5. Attempt any two of the following :—

(a) Explain the Role of ECGC 10
(b) Explain the Role of Exim bank 10
(c¢) Explain the role of MMTC 10
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6. Attempt any two of the following —

(a) Explain the types of Letter of Credit 10
(b) Explain the shipping document required by an exporter. 10
(c) Briefly discuss the incentives available to an Indian - exporter. 10

7. Write short notes on any two of the following :—

(a) European Union 10
(b) STC 10
(c) Methods of Exchange Control 10

(d) Certificate of Origin
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